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1 Calculate the area
of this rhombus...

10m

2

Multiply out the

3

Calculate the

Hannah scored

5 Calculate the length

6  Write

7

followina bracket surface s 78 out of 110 of the missing side...

ollowing brackets in her National 5 maths =

and gather like 10 em area 0"f exam. Calculate her 127 mm ﬁ ) 38 600 ) CQICU'GTQ
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7(2x = 3) —8(x —4) Zem 2em nearest percent. xmm nO'l'QTlon. X
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8x—1=5x+11| (-7+25)+ 6?2 2 /59 049 will savings of £400 629 = 17 How many el
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14 Calculate the length
of the missing
side...
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Onions are sold
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5 | in packs of 3.
What = How many
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Calculate

20 Factorise
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A band share royalties
from a hit record. The
money was shared between

22

23 A milk float

travelled for |

Calculate the
gradient of the

24

To bake a pie

in an oven, a recipe
suggests a temperature

of (160 + 5%)°C.

What are the min and
max temperatures
that are acceptable?

25

A vase contained
exactly 2 litres
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